* Inequal iHes have an
INFINITE # of Soluhons
Solving and Graphing One Variable Inequalities (V alues
The solution to an inequality is the set of values that make the inequality __m_@__ - mwmake

You solve an inequality very much like you would solve (L) CCgU&h Oown__, except you have to

keep in mind that some operations will vV I'\"C,l/\ the inequality symbol. Anytime you
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Solve: 3(x —~ 4) + 2? <14 - The valuce( that you end up with when x is by itself is called the
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Solve the following inequalities and graph the solutions.
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3. Keith has $500)in a savings accountfat the beg mm;‘ of the summer. He wan{s 70 liave at least $200 in

the account by the end of the summer. eRyfor food, clothes, and movie tickets.

Write an meguaiity that represents Keith’s situation. How many weeks can Keith withdraw money from
" his account? Jusiify your answer. w = e\ ecik =& nace OUAT
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Ketn canwithdroow mw‘z{?ia+ s rote for
up 1o 12Weeks and shill hate at least dzp0
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